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. Let f (x,y) =™ sin(x+y).

(a) In what direction, starting at (0, ©/2), is f changing the fastest? (1096)
(b) In what direction, starting at (0, w/2), is f changing at 509gof its maximum
rate 7 (1096)

. In the solution to the problem

O+ Uy =0 for 0 <x <J'£/2, y>0
(0, y) =0, udn/2,y)=
u(x, 0) = 1- x, ulx, y) is bounded asy 2w
find the coefficient on cos{6x)e™®. (Skip A< 0 case) (159)

. Evaluate
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Where vy is the circle [z | =9 (15%)

. Find the general solution of the following equation: (15%)
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. Solve the following initial value problem: (15%)

y'+3.7y =0, y(-2) =4,y (-2)=0

. Find the radius of convergence of the following series: (20%)
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